

**HOMOMORPHISM IN t - Q -INTUITIONISTIC
 L -FUZZY SUB RINGS**

Mourad Oqla Massa'deh^{1 §}, Tariq Al-Hawary²

^{1,2}Department of Applied Science

Ajloun College

Al-Balqa Applied University

Ajloun, 26816, JORDAN

Abstract: In this paper, the notion of t - Q -intuitionistic L -fuzzy sub rings (normal sub rings and ideals) are defined and the homomorphic behavior of t - Q -intuitionistic L -fuzzy sub rings (normal sub rings and ideals) and inverse images has been obtained. Some new results are obtained based on this notion.

AMS Subject Classification: 30C45

Key Words: t - Q -intuitionistic L -fuzzy subset, t - Q -intuitionistic L -fuzzy sub rings, t - Q -intuitionistic L -fuzzy normal sub ring, t - Q -intuitionistic L -fuzzy left (right) ideals, homomorphism

1. Introduction

The concept of intuitionistic L -fuzzy subset was introduced by Atanassov in [5, 6] as a generalization of Zadeh's fuzzy sets. In the case of intuitionistic fuzzy sets there were several attempts to define intuitionistic fuzzy rings, see [4, 9]. A. Solairaju and R. Nagarajan in [1, 2] introduced and defined a new algebraic structure called Q -fuzzy sub rings. On the other hand Palaniappan, Arjanan and Palanovelrajan in [8] define intuitionistic L -fuzzy sub rings. Wang liu and Yin in [4] defined intuitionistic fuzzy ideals with thresholds (α, β)

Received: December 16, 2015

Published: March 12, 2016

© 2016 Academic Publications, Ltd.

url: www.acadpubl.eu

[§]Correspondence author

of rings. Sharma in [9] introduced the notion of translates of intuitionistic fuzzy sub rings. The notion of t -intuitionistic fuzzy quotient group has been introduced by sharma in [10]. Here in this paper, we introduce the notion of t - Q -intuitionistic L -fuzzy subset and then define t - Q -intuitionistic L -fuzzy sub rings (normal sub rings and ideals) of a ring R and establish some new results.

2. Preliminary

Definition 2.1. Let X be a non empty set, and $L = (L, \leq)$ be a lattice with least element 0, and greatest element 1 and Q be a non empty set. A Q - L -fuzzy subset μ of X is a function $\mu : X \times Q \rightarrow L$.

Definition 2.2. Let $L = (L, \leq)$ be a complete lattice with an evaluative order reversing operation $N : L \rightarrow L$ and Q be a non empty set. A Q -intuitionistic L -fuzzy subset (QILFS) μ in X is defined as an object of the form $\mu = \{ \langle (x, q), \lambda_\mu(x, q), \delta_\mu(x, q) \rangle ; x \in X \text{ and } q \in Q \}$ where $\lambda_\mu : X \times Q \rightarrow L$ and $\delta_\mu : X \times Q \rightarrow L$ define the degree of member ship, and the degree of non member ship of the element $x \in X$, respectively, and for every $x \in X$ and $q \in Q$ satisfying $\lambda_\mu(x, q) \leq N(\delta_\mu(x, q))$.

Definition 2.3. Let R be a ring. AQ -intuitionistic L -fuzzy subset μ of R is said to be a Q -intuitionistic L -fuzzy sub ring (QILFSR) of R if it satisfies the following axioms:

1. $\lambda_\mu(x - y, q) \geq \min\{\lambda_\mu(x, q), \lambda_\mu(y, q)\}$;
2. $\lambda_\mu(xy, q) \geq \min\{\lambda_\mu(x, q), \lambda_\mu(y, q)\}$;
3. $\delta_\mu(x - y, q) \leq \max\{\delta_\mu(x, q), \delta_\mu(y, q)\}$;
4. $\delta_\mu(xy, q) \leq \max\{\delta_\mu(x, q), \delta_\mu(y, q)\}$.

Definition 2.4. Let R be a ring. AQ -intuitionistic L -fuzzy sub ring μ of R is said to be a Q -intuitionistic L -fuzzy normal sub ring (QILFNRSR) of R if it satisfies:

1. $\lambda_\mu(xy, q) = \lambda_\mu(yx, q)$;
2. $\delta_\mu(xy, q) = \delta_\mu(yx, q)$;

For all $x, y \in R$ and $q \in Q$.

Definition 2.5. Let μ be a QILFS of a ring R . And let $t \in [0, 1]$, then the QIFS μ^t of R is called the t - Q -intuitionistic fuzzy subset (tQILFS) of R with respect to QILFS μ and is defined as $\mu^t = (\lambda_{\mu^t}, \delta_{\mu^t})$, where

$$\lambda_{\mu^t}(x, q) = \min\{\lambda_{\mu}(x, q), t\}$$

and

$$\delta_{\mu^t}(x, q) = \max\{\delta_{\mu}(x, q), 1 - t\},$$

forall $x \in R$.

Definition 2.6. Let X, Y be two non empty sets and $\Phi : X \rightarrow Y$ be a mapping. Let μ and γ be two tQILFS of X and Y respectively. Then the image of μ under the map Φ is denoted by $\Phi(\mu)$ and is defined as $\Phi(\mu^t)(y, q) = (\lambda_{\Phi(\mu^t)}(y, q), \delta_{\Phi(\mu^t)}(y, q))$ where

$$\lambda_{\Phi(\mu^t)}(y, q) = \begin{cases} \sup\{\lambda_{\mu^t}(x, q)\}, & x \in \Phi^{-1}(y), \\ 0, & \text{otherwise,} \end{cases}$$

$$\delta_{\Phi(\mu^t)}(y, q) = \begin{cases} \inf\{\delta_{\mu^t}(x, q)\}, & x \in \Phi^{-1}(y), \\ 1, & \text{otherwise,} \end{cases}$$

also the pre-image of γ^t under Φ is denoted by $\Phi^{-1}(\gamma^t)$ and is defined as

$$\Phi^{-1}(\gamma^t)(x, q) = (\lambda_{\Phi^{-1}(\gamma^t)}(x, q), \delta_{\Phi^{-1}(\gamma^t)}(x, q)),$$

where

$$\lambda_{\Phi^{-1}(\gamma^t)}(x, q) = \lambda_{\gamma^t}(\Phi(x), q)$$

and

$$\delta_{\Phi^{-1}(\gamma^t)}(x, q) = \delta_{\gamma^t}(\Phi(x), q).$$

This means that $\Phi^{-1}(\gamma^t)(x, q) = (\lambda_{\gamma^t}(\Phi(x), q), \delta_{\gamma^t}(\Phi(x), q))$.

Proposition 2.7. Let $\Phi : X \rightarrow Y$ be a mapping. Let μ and γ be two tQILFS of X and Y respectively. Then $\Phi^{-1}(\gamma^t) = (\Phi^{-1}(\gamma))^t$ and $\Phi(\mu^t) = (\Phi(\mu))^t$ for all $t \in [0, 1]$.

Proof. We have

$$\begin{aligned} \Phi^{-1}(\gamma^t)(x, q) &= \gamma^t(\Phi(x), q) = (\lambda_{\gamma^t}(\Phi(x), q), \delta_{\gamma^t}(\Phi(x), q)) \\ &= \{\min\{\lambda_{\gamma}(\Phi(x), q), t\}, \max\{\delta_{\gamma}(\Phi(x), q), 1 - t\}\} \end{aligned}$$

$$\begin{aligned}
 &= \{\min\{\lambda_{\Phi^{-1}(\gamma)}(x, q), t\}, \max\{\delta_{\Phi^{-1}(\gamma)}(x, q), 1 - t\}\} \\
 &= (\lambda_{(\Phi^{-1}(\gamma))^t}(x, q), \delta_{(\Phi^{-1}(\gamma))^t}(x, q)) = (\Phi^{-1}(\gamma))^t(x, q).
 \end{aligned}$$

Therefore

$$\begin{aligned}
 \Phi^{-1}(\gamma^t) &= (\Phi^{-1}(\gamma))^t \Phi(\mu^t)(y) \\
 &= (\sup\{\lambda_{\mu^t}(x, q); \Phi(x) = y\}, \inf\{\delta_{\mu^t}(x, q); \Phi(x) = y\}) \\
 &= (\sup\{\min\{\lambda_{\mu}(x, q), t\}; \Phi(x) = y\}, \inf\{\max\{\delta_{\mu}(x, q), 1 - t\}; \Phi(x) = y\}) \\
 &= (\min\{\sup\{\lambda_{\mu}(x, q); \Phi(x) = y\}, t\}, \max\{\inf\{\delta_{\mu}(x, q); \Phi(x) = y\}, 1 - t\}) \\
 &= (\min\{(\lambda_{\Phi(\mu)}(y, q), t\}, \max\{\delta_{\Phi(\mu)}(y, q), 1 - t\}) \\
 &= (\lambda_{(\Phi(\mu))^t}(y, q), \delta_{(\Phi(\mu))^t}(y, q)) = (\Phi(\mu))^t(y, q).
 \end{aligned}$$

Hence we get $\Phi(\mu^t) = (\Phi(\mu))^t$. □

Definition 2.8. Let μ be a QILFS of a ring R . And let $t \in [0, 1]$, then μ is called t - Q -intuitionistic L -fuzzy sub ring (tQILFSR) of R if is QILFSR of R . This means that μ^t satisfies the following conditions:

1. $\lambda_{\mu^t}(x - y, q) \geq \min\{\lambda_{\mu^t}(x, q), \lambda_{\mu^t}(y, q)\}$;
2. $\lambda_{\mu^t}(xy, q) \geq \min\{\lambda_{\mu^t}(x, q), \lambda_{\mu^t}(y, q)\}$;
3. $\delta_{\mu^t}(x - y, q) \leq \max\{\delta_{\mu^t}(x, q), \delta_{\mu^t}(y, q)\}$;
4. $\delta_{\mu^t}(xy, q) \leq \max\{\delta_{\mu^t}(x, q), \delta_{\mu^t}(y, q)\}$;

for all $x, y \in R$ and $q \in Q$.

Theorem 2.9. If μ is QILFNSR of a ring R , then μ is also tQILFNSR of a ring R .

Proof. Let $x, y \in R$ be any elements, then

$$\lambda_{\mu^t}(xy, q) = \min\{\lambda_{\mu}(xy, q), t\} = \min\{\lambda_{\mu}(yx, q), t\} = \lambda_{\mu^t}(yx, q).$$

Similarly

$$\delta_{\mu^t}(xy, q) = \max\{\delta_{\mu}(xy, q), 1 - t\} = \max\{\delta_{\mu}(yx, q), 1 - t\} = \delta_{\mu^t}(yx, q).$$

Therefore μ is also tQILFNSR of R . □

Definition 2.10. Let μ be a QILFS of a ring R . And let $t \in [0, 1]$, then μ is called t - Q -intuitionistic L -fuzzy left ideal (tQILFLI) of R . If:

1. $\lambda_{\mu^t}(x - y, q) \geq \min\{\lambda_{\mu^t}(x, q), \lambda_{\mu^t}(y, q)\}$;
2. $\lambda_{\mu^t}(xy, q) \geq \lambda_{\mu^t}(y, q)$;
3. $\delta_{\mu^t}(x - y, q) \leq \max\{\delta_{\mu^t}(x, q), \delta_{\mu^t}(y, q)\}$;
4. $\delta_{\mu^t}(xy, q) \leq \delta_{\mu^t}(y, q)$ for all $x, y \in R$ and $q \in Q$.

Definition 2.11. Let μ be a QILFS of a ring R . And let $t \in [0, 1]$, then μ is called t - Q -intuitionistic L -fuzzy right ideal (tQILFRI) of R . If:

1. $\lambda_{\mu^t}(x - y, q) \geq \min\{\lambda_{\mu^t}(x, q), \lambda_{\mu^t}(y, q)\}$;
2. $\lambda_{\mu^t}(xy, q) \geq \lambda_{\mu^t}(x, q)$;
3. $\delta_{\mu^t}(x - y, q) \leq \max\{\delta_{\mu^t}(x, q), \delta_{\mu^t}(y, q)\}$;
4. $\delta_{\mu^t}(xy, q) \leq \delta_{\mu^t}(x, q)$ for all $x, y \in R$ and $q \in Q$.

Proposition 2.12. If μ is QILFLI of a ring R , then μ is also tQILFLI of a ring R .

Proof. By Definition 2.8 and Definition 2.11, we need to prove that

$$\lambda_{\mu^t}(xy, q) \geq \lambda_{\mu^t}(y, q) \text{ and } \delta_{\mu^t}(xy, q) \leq \delta_{\mu^t}(y, q),$$

for all $x, y \in R$.

But

$$\lambda_{\mu^t}(xy, q) = \min\{\lambda_{\mu}(xy, q), t\} \geq \lambda_{\mu^t}(x, q) = \min\{\lambda_{\mu}(y, q), t\} = \lambda_{\mu^t}(y, q).$$

Thus $\lambda_{\mu^t}(xy, q) \geq \lambda_{\mu^t}(y, q)$.

Similarly, we can show that $\delta_{\mu^t}(xy, q) \leq \delta_{\mu^t}(y, q)$.

Hence μ is also tQILFLI of a ring R . □

Corollary 2.13. If μ is QILFRI of a ring R , then μ is also tQILFRI of a ring R .

3. Homomorphism and Isomorphism of t - Q -Intuitionistic L -Fuzzy Sub Rings, Ideals and Normal

Theorem 3.1. *Let $\Phi : R_1 \rightarrow R_2$ be a ring homomorphism from the ring R_1 into a ring R_2 . Let γ be t QILFSR of R_2 . Then $\Phi^{-1}(\gamma)$ is t QILFSR of R_1 .*

Proof. Let $x, y \in R_1$, since γ be t QILFSR of R_2 . Then

$$\Phi^{-1}(\gamma^t)(x - y, q) = (\lambda_{\Phi^{-1}(\gamma^t)}(x - y, q), \delta_{\Phi^{-1}(\gamma^t)}(x - y, q)).$$

$$\begin{aligned} \lambda_{\Phi^{-1}(\gamma^t)}(x - y, q) &= \lambda_{\gamma^t}(\Phi(x - y), q) = \lambda_{\mu^t}(\Phi(x) - \Phi(y), q) \\ &\geq \min\{\lambda_{\gamma^t}(\Phi(x), q), \lambda_{\gamma^t}(\Phi(y), q)\} = \min\{\lambda_{\Phi^{-1}(\gamma^t)}(x, q), \lambda_{\Phi^{-1}(\gamma^t)}(y, q)\}. \end{aligned}$$

Thus

$$\lambda_{\Phi^{-1}(\gamma^t)}(x - y, q) \geq \min\{\lambda_{\Phi^{-1}(\gamma^t)}(x, q), \lambda_{\Phi^{-1}(\gamma^t)}(y, q)\}.$$

Similarly, we can show that

$$\delta_{\Phi^{-1}(\gamma^t)}(x - y, q) \leq \max\{\delta_{\Phi^{-1}(\gamma^t)}(x, q), \delta_{\Phi^{-1}(\gamma^t)}(y, q)\}.$$

We have

$$\begin{aligned} \lambda_{\Phi^{-1}(\gamma^t)}(xy, q) &= \lambda_{\gamma^t}(\Phi(xy), q) \\ &= \lambda_{\gamma^t}(\Phi(x)\Phi(y), q) \geq \min\{\lambda_{\gamma^t}(\Phi(x), q), \lambda_{\gamma^t}(\Phi(y), q)\} \\ &= \min\{\lambda_{\Phi^{-1}(\gamma^t)}(x, q), \lambda_{\Phi^{-1}(\gamma^t)}(y, q)\}. \end{aligned}$$

Thus

$$\lambda_{\Phi^{-1}(\gamma^t)}(xy, q) \geq \min\{\lambda_{\Phi^{-1}(\gamma^t)}(x, q), \lambda_{\Phi^{-1}(\gamma^t)}(y, q)\}.$$

Also, it is easy to show that

$$\delta_{\Phi^{-1}(\gamma^t)}(xy, q) \leq \max\{\delta_{\Phi^{-1}(\gamma^t)}(x, q), \delta_{\Phi^{-1}(\gamma^t)}(y, q)\}.$$

Therefore $\Phi^{-1}(\gamma^t) = (\Phi^{-1}(\gamma))^t$ is QILFSR of R_1 and hence $\Phi^{-1}(\gamma)$ is t QILFSR of R_1 . \square

Corollary 3.2. *Let $\Phi : R_1 \rightarrow R_2$ be a ring homomorphism from the ring R_1 into a ring R_2 . Let γ be t QILFNSR of R_2 . Then $\Phi^{-1}(\gamma)$ is t QILFNSR of R_1 .*

Proof. Let $x, y \in R_1$, since γ be tQILFSR of R_2 also

$$\Phi^{-1}(\gamma^t)(xy) = (\lambda_{\Phi^{-1}(\gamma^t)}(xy, q), \delta_{\Phi^{-1}(\gamma^t)}(xy, q)).$$

Hence, it is enough to show that

$$\lambda_{\Phi^{-1}(\gamma^t)}(xy, q) = (\lambda_{\Phi^{-1}(\gamma^t)}(yx, q) \text{ and } \delta_{\Phi^{-1}(\gamma^t)}(xy, q) = \delta_{\Phi^{-1}(\gamma^t)}(yx, q)).$$

But

$$\begin{aligned} \lambda_{\Phi^{-1}(\gamma^t)}(xy, q) &= \lambda_{\gamma^t}(\Phi(xy), q) \\ &= \lambda_{\gamma^t}(\Phi(x)\Phi(y), q) \\ &= \lambda_{\gamma^t}(\Phi(y)\Phi(x), q) \\ &= \lambda_{\gamma^t}(\Phi(xy), q) \\ &= \lambda_{\Phi^{-1}(\gamma^t)}(yx, q). \end{aligned}$$

Moreover

$$\begin{aligned} \delta_{\Phi^{-1}(\gamma^t)}(xy, q) &= \delta_{\gamma^t}(\Phi(xy), q) \\ &= \delta_{\gamma^t}(\Phi(x)\Phi(y), q) \\ &= \delta_{\gamma^t}(\Phi(y)\Phi(x), q) \\ &= \delta_{\gamma^t}(\Phi(xy), q) \\ &= \delta_{\Phi^{-1}(\gamma^t)}(yx, q). \end{aligned}$$

Thus $\Phi^{-1}(\gamma^t) = (\Phi^{-1}(\gamma))^t$ is QILFNSR of R_1 and hence $\Phi^{-1}(\gamma)$ is tQILFNSR of R_1 . □

Corollary 3.3. *Let $\Phi : R_1 \rightarrow R_2$ be a ring homomorphism from the ring R_1 into a ring R_2 . Let γ be tQILFLI of R_2 . Then $\Phi^{-1}(\gamma)$ is tQILFLI of R_1 .*

Proof. Since γ be tQILFSR of R_2 and let $x, y \in R_1$. Then by Theorem 3.1 we need only to prove

$$\lambda_{\Phi^{-1}(\gamma^t)}(xy, q) \geq \lambda_{\Phi^{-1}(\gamma^t)}(y, q)$$

and

$$\delta_{\Phi^{-1}(\gamma^t)}(xy, q) \leq \delta_{\Phi^{-1}(\gamma^t)}(y, q).$$

But

$$\begin{aligned} \lambda_{\Phi^{-1}(\gamma^t)}(xy, q) &= \lambda_{\gamma^t}(\Phi(xy), q) = \lambda_{\gamma^t}(\Phi(x)\Phi(y), q) \geq \lambda_{\gamma^t}(\Phi(y), q) \\ &= \lambda_{\Phi^{-1}(\gamma^t)}(y, q). \end{aligned}$$

Thus

$$\lambda_{\Phi^{-1}(\gamma^t)}(xy, q) \geq \lambda_{\Phi^{-1}(\gamma^t)}(y, q).$$

Similarly, we can show that $\delta_{\Phi^{-1}(\gamma^t)}(xy, q) \leq \delta_{\Phi^{-1}(\gamma^t)}(y, q)$.

Therefore $\Phi^{-1}(\gamma^t) = (\Phi^{-1}(\gamma))^t$ is QILFLI of R_1 and hence $\Phi^{-1}(\gamma)$ is tQILFLI of R_1 . □

Corollary 3.4. *Let $\Phi : R_1 \rightarrow R_2$ be a ring homomorphism from the ring R_1 into a ring R_2 . Let γ be tQILFRI of R_2 . Then $\Phi^{-1}(\gamma)$ is tQILFRI of R_1 .*

Proof. Straight forward. □

Theorem 3.5. *Let $\Phi : R_1 \rightarrow R_2$ be epimorphism from the ring R_1 into a ring R_2 and μ be tQILFSR of R_1 . Then $\Phi(\mu)$ is tQILFSR of R_2 .*

Proof. Let $x, y \in R_2$. Then there exist $a, b \in R_1$ such that $\Phi(a) = x, \Phi(b) = y$ we know that a, b need not be unique also μ is tQILFSR of R_1 :

$$\begin{aligned} \Phi(\mu^t)(x - y, q) &= (\lambda_{\Phi(\mu^t)}(x - y, q), \delta_{\Phi(\mu^t)}(x - y, q)) \\ \lambda_{\Phi(\mu^t)}(x - y, q) &= \lambda_{(\Phi(\mu))^t}(x - y, q) = \min\{\lambda_{\Phi(\mu)}(\Phi(a) - \Phi(b), q), t\} \\ &= \min\{\lambda_{\Phi(\mu)}(\Phi(a - b), q), t\} \geq \min\{\lambda_{\mu}(a - b, q), t\} \\ &= \lambda_{\mu}(a - b, q), \end{aligned}$$

for all $a, b \in R_1$ such that $\Phi(a) = x, \Phi(b) = y$. Moreover, we have

$$\begin{aligned} &= \min\{\sup\{\lambda_{\mu^t}(a, q); \Phi(a) = x\}, \sup\{\lambda_{\mu^t}(b, q); \Phi(b) = y\}\} \\ &= \min\{\lambda_{\Phi(\mu^t)}(x, q), \lambda_{\Phi(\mu^t)}(y, q)\}. \end{aligned}$$

Thus $\lambda_{\Phi(\mu^t)}(x - y, q) \geq \min\{\lambda_{\Phi(\mu^t)}(x, q), \lambda_{\Phi(\mu^t)}(y, q)\}$.

Similarly, we can show that

$$\delta_{\Phi(\mu^t)}(x - y, q) \leq \max\{\delta_{\Phi(\mu^t)}(x, q), \delta_{\Phi(\mu^t)}(y, q)\},$$

$$\begin{aligned} \lambda_{\Phi(\mu^t)}(xy, q) &= \lambda_{(\Phi(\mu))^t}(xy, q) \\ &= \min\{\lambda_{\Phi(\mu)}(\Phi(a) \cdot \Phi(b), q), t\} \end{aligned}$$

$$= \min\{\lambda_{\Phi(\mu)}(\Phi(ab), q), t\} \geq \min\{\lambda_{\mu}(ab, q), t\} = \lambda_{\mu}(ab, q),$$

for all $a, b \in R_1$ such that $\Phi(a) = x, \Phi(b) = y$.

$$\begin{aligned} &= \min\{\sup\{\lambda_{\mu^t}(a, q); \Phi(a) = x\}, \sup\{\lambda_{\mu^t}(b, q); \Phi(b) = y\}\} \\ &= \min\{\lambda_{\Phi(\mu^t)}(x, q), \lambda_{\Phi(\mu^t)}(y, q)\}. \end{aligned}$$

Thus $\lambda_{\Phi(\mu^t)}(xy, q) \geq \min\{\lambda_{\Phi(\mu^t)}(x, q), \lambda_{\Phi(\mu^t)}(y, q)\}$.

Similarly, we can show that $\delta_{\Phi(\mu^t)}(xy, q) \leq \max\{\delta_{\Phi(\mu^t)}(x, q), \delta_{\Phi(\mu^t)}(y, q)\}$.

Thus $\Phi(\mu^t) = (\Phi(\mu))^t$ is tQILFSR of R_2 and hence $\Phi(\mu)$ is tQILFSR of R_1 . □

Theorem 3.6. *Let $\Phi : R_1 \rightarrow R_2$ be epimorphism from the ring R_1 into a ring R_2 and μ be tQILFNSR of R_1 . Then $\Phi(\mu)$ is tQILFNSR of R_2 .*

Proof. Let $x, y \in R_2$. Then there exist $a, b \in R_1$ such that $\Phi(a) = x, \Phi(b) = y$ we know that a, b need not be unique also μ is tQILFNSR of R_1 .

$\Phi(\mu^t)(xy, q) = (\lambda_{\Phi(\mu^t)}(xy, q), \delta_{\Phi(\mu^t)}(xy, q))$ by Theorem 3.5, we need only to prove that $\lambda_{\Phi(\mu^t)}(xy, q) = \lambda_{\Phi(\mu^t)}(yx, q)$ and $\delta_{\Phi(\mu^t)}(xy, q) = \delta_{\Phi(\mu^t)}(yx, q)$:

$$\begin{aligned} \lambda_{\Phi(\mu^t)}(xy, q) &= \lambda_{\Phi(\mu^t)}(\Phi(a)\Phi(b), q) \\ &= \lambda_{\Phi(\mu^t)}(\Phi(ab), q) \\ &= \sup\{\lambda_{\Phi(\mu^t)}(xy, q); \Phi(ab) = xy\} \\ &= \sup\{\lambda_{\Phi(\mu^t)}(yx, q); \Phi(ab) = xy\} \\ &= \lambda_{\Phi(\mu^t)}(\Phi(ab), q) \\ &= \lambda_{\Phi(\mu^t)}(\Phi(a)\Phi(b), q) \\ &= \lambda_{\Phi(\mu^t)}(yx, q). \end{aligned}$$

□

Also we can show that $\delta_{\Phi(\mu^t)}(xy, q) = \delta_{\Phi(\mu^t)}(yx, q)$

Theorem 3.7. *Let $\Phi : R_1 \rightarrow R_2$ be epimorphism from the ring R_1 into a ring R_2 and μ be tQILFLI of R_1 . Then $\Phi(\mu)$ is tQILFLI of R_2 .*

Proof. Let $x, y \in R_2$. Then there exist $a, b \in R_1$, then there exist a unique $a, b \in R_1$ such that $\Phi(a) = x, \Phi(b) = y$,

$$(\Phi(\mu))^t(xy, q) = (\lambda_{(\Phi(\mu))^t}(xy, q), \delta_{(\Phi(\mu))^t}(xy, q)).$$

Since μ be tQILFLI of R_1 , then by Theorem 3.5 we need only to prove that $\lambda_{(\Phi(\mu))^t}(xy, q) \geq \lambda_{(\Phi(\mu))^t}(y, q)$ and

$$\begin{aligned} \delta_{(\Phi(\mu))^t}(xy, q) &\leq \delta_{(\Phi(\mu))^t}(y, q)\lambda_{(\Phi(\mu))^t}(xy, q) \\ &= \min\{\lambda_{\Phi(\mu)}(\Phi(a).\Phi(b), q), t\} \\ &= \min\{\lambda_{\Phi(\mu^t)}(\Phi(ab), q), t\} \\ &= \min\{\lambda_{\mu}(ab, q), t\} \\ &= \lambda_{\mu^t}(ab, q) \geq \lambda_{\mu^t}(b, q) \\ &= \min\{\lambda_{\mu}(b, q), t\} \\ &= \min\{\lambda_{\Phi(\mu)}(\Phi(b), q), t\} \\ &= \min\{\lambda_{\Phi(\mu)}(y, q), t\} \\ &= \lambda_{(\Phi(\mu))^t}(y, q). \end{aligned}$$

Therefore

$$\lambda_{(\Phi(\mu))^t}(xy, q) \geq \lambda_{(\Phi(\mu))^t}(y, q).$$

Similarly, we can show that

$$\delta_{(\Phi(\mu))^t}(xy, q) \leq \delta_{(\Phi(\mu))^t}(y, q).$$

Hence $(\Phi(\mu))^t$ is QILFLI of R_2 and hence $\Phi(\mu)$ is tQILFLI of R_2 . □

Corollary 3.8. *Let $\Phi : R_1 \rightarrow R_2$ be epimorphism from the ring R_1 into a ring R_2 and μ be tQILFRI of R_1 . Then $\Phi(\mu)$ is tQILFRI of R_2 .*

Theorem 3.9. *Let R_1, R_2 be any two rings. The homomorphic image of a tQILFSR of R_1 is a tQILFSR of $\Phi(R_1) = R_2$.*

Proof. Let μ be a tQILFSR of R_1 . We have to prove that γ is tQILFSR of R_2 , now for $\Phi(x), \Phi(y) \in R_2$ and $q \in Q$.

$$\begin{aligned} \lambda_{\gamma^t}(\Phi(x) - \Phi(y), q) &= \lambda_{\gamma^t}(\Phi(x - y), q) = \min\{\lambda_{\gamma}(\Phi(x - y), q), t\} \\ &\geq \min\{\lambda_{\gamma}(x - y, q), t\} = \min\{\lambda_{\gamma^t}(x, q), \lambda_{\gamma^t}(y, q)\}. \end{aligned}$$

$$\text{Thus } \lambda_{\gamma^t}(\Phi(x) - \Phi(y), q) \geq \min\{\lambda_{\gamma^t}(\Phi(x), q), \lambda_{\gamma^t}(\Phi(y), q)\}$$

also for $\Phi(x), \Phi(y) \in R_2$ and $q \in Q$.

$$\begin{aligned} \lambda_{\gamma^t}(\Phi(x)\Phi(y), q) &= \lambda_{\gamma^t}(\Phi(xy), q) = \min\{\lambda_{\gamma}(\Phi(xy), q), t\} \\ &\geq \min\{\lambda_{\gamma}(xy, q), t\} = \min\{\lambda_{\gamma^t}(x, q), \lambda_{\gamma^t}(y, q)\} \end{aligned}$$

$$\text{Thus } \lambda_{\gamma^t}(\Phi(x)\Phi(y), q) \geq \min\{\lambda_{\gamma^t}(\Phi(x), q), \lambda_{\gamma^t}(\Phi(y), q)\}.$$

$$\text{Similarly we can prove that } \delta_{\gamma^t}(\Phi(x) - \Phi(y), q) \leq \max\{\delta_{\gamma^t}(\Phi(x),), \delta_{\gamma^t}(\Phi(y), q)\}$$

And $\delta_{\gamma^t}(\Phi(x)\Phi(y), q) \leq \max\{\delta_{\gamma^t}(\Phi(x),), \delta_{\gamma^t}(\Phi(y), q)\}$. Therefore γ is tQILFSR of R_2 . \square

Corollary 3.10. *Let R_1, R_2 be any two rings. The homomorphic image of a tQILFLI (tQILFRI) of R_1 is a tQILFLI (tQILFRI) of $\Phi(R_1) = R_2$.*

Theorem 3.11. *Let R_1, R_2 be any two rings. The homomorphic image of a tQILFNSR of R_1 is a tQILFNSR of $\Phi(R_1) = R_2$.*

Proof. Since μ is a tQILFSR of R_1 . We have to prove that γ is tQILFSR of R_2 , now for $\Phi(x), \Phi(y) \in R_2$ and $q \in Q$, clearly γ is tQILFSR of R_2 .

Also μ is is tQILFSR of R_1 . Now,

$$\begin{aligned} \lambda_{\gamma^t}(\Phi(x)\Phi(y), q) &= \lambda_{\gamma^t}(\Phi(xy), q) \geq \lambda_{\mu^t}(xy, q) \\ &= \lambda_{\mu^t}(yx, q) = \lambda_{\mu^t}(\Phi(yx), q) = \lambda_{\gamma^t}(\Phi(y)\Phi(x), q). \end{aligned}$$

Thus $\lambda_{\gamma^t}(\Phi(x)\Phi(y), q) = \lambda_{\gamma^t}(\Phi(y)\Phi(x), q)$ also for all $\Phi(x), \Phi(y) \in R_2$ and $q \in Q$

$$\begin{aligned} \delta_{\gamma^t}(\Phi(x)\Phi(y), q) &= \delta_{\gamma^t}(\Phi(xy), q) \leq \delta_{\mu^t}(xy, q) = \delta_{\mu^t}(yx, q) \\ &= \delta_{\gamma^t}(\Phi(yx), q) = \delta_{\gamma^t}(\Phi(y)\Phi(x), q). \end{aligned}$$

Thus $\delta_{\gamma^t}(\Phi(x)\Phi(y), q) = \delta_{\gamma^t}(\Phi(y)\Phi(x), q)$. Therefore γ is tQILFNSR of R_2 . \square

Corollary 3.12. *Let R_1, R_2 be any two rings. The homomorphic preimage of a tQILFSR of $\Phi(R_1) = R_2$ is a tQILFSR of R_1 .*

Corollary 3.13. *Let R_1, R_2 be any two rings. The homomorphic preimage of a tQILFNSR of $\Phi(R_1) = R_2$ is a tQILFNSR of R_1 .*

Corollary 3.14. *Let R_1, R_2 be any two rings. The homomorphic preimage of a tQILFLI (tQILFRI) of $\Phi(R_1) = R_2$ is a tQILFLI (tQILFRI) of R_1 .*

References

- [1] A. Solairaju, R. Nagarajan, A new structure and construction of Q-fuzzy groups, *Advances in Fuzzy Mathematics*, **4** (2009), 23-29.
- [2] A. Solairaju, R. Nagarajan, Lattice valued Q-fuzzy left R-sub modules of near rings with respect T to-norms, *Advances in Fuzzy Mathematics*, **4** (2009), 137-145.

- [3] F. Mohammad Marashdeh, Abdul Razak Salleh, Intuitionistic fuzzy ring, *International Journal of Algebra*, **5** (2011), 37-47.
- [4] J. Wang, X. Lin and Y. Yin, Intuitionistic fuzzy ideals with threshold (α, β) of rings, *International Mathematics Forum*, **4** (2009), 1119-1127.
- [5] K. Atanassov, Intuitionistic fuzzy sets, *Fuzzy Sets and Systems*, **20** (1986), 87-96.
- [6] K. Atanassov, S. Stoevo, Intuitionistic L-fuzzy sets, *Cybernetics and Systems Research*, **2**(1984), 539-540.
- [7] Li. Mei Yan, Intuitionistic fuzzy ring and it's homomorphism image, *International Seminar on Future Bio Medical Information Engineering Fbie* (2008), 75-77.
- [8] N. Palaniappan, K. Arjunan, M. Palanivelrajan, A study of intuitionistic fuzzy L-sub rings, *NIF*, **14** (2008), 5-10.
- [9] P.K. Sharma, Translates of intuitionistic fuzzy sub ring, *International Review of Fuzzy Mathematics*, **6** (2011), 77-84.
- [10] P.K. Sharma, t-intuitionistic fuzzy quotient group, *Advances in Fuzzy Mathematics*, **7** (2012), 1-9.